Disturbance Product List


1.  30-meter (scene pair based) disturbance map product.  

UTM projection (not reprojected from GeoCover, 8-bit).
   - Layer 1: internal disturbance map (dm_internal) with separate values for:
        - disturbed forest (biomass loss)      value=255
        - regrown forest (biomass gain)        value=1
        - no change                                        value=128
        - not mapped (null, cloud, shadow)  value=0
   - Layer 2: NLCD disturbance map (dm_nlcd) with separate values for:
        - disturbed forest (biomass loss)      value=255
        - regrown forest (biomass gain)        value=1
        - no change                                        value=128
        - not mapped (null, cloud, shadow)  value=0
   - Layer 3 :  DI_diff image  (rescaled to 8-bit)

   - Layer 4:   TM fuzzy forest probability (8-bit scaled 0 to 100%)

   - Layer 5:   ETM fuzzy forest probability (8-bit scaled 0 to 100%)

   - Layer 6    QA bits (8-bit)
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Also add TM, ETM+ acquisition dates to product  metadata

Total size ~ 225 MB


 2.  500-meter North American Disturbance maps

Lambert Equal Area Projection.  [Note:  according to EDC, the North American Lambert product will be about 18000 x 18500 pixels at 500m resolution = 333 MB per 8-bit layer.  Given the size of these layers, I would recommend three separate products for download…]

2.1  Disturbance-Regrowth By %Pixel Area Product

   - Layer 1:  disturbance map showing %valid 500 meter cell disturbed during measurement interval***
   - Layer 2:  regrowth map showing %valid 500 meter cell regrown during measurement interval***

   - Layer 3:  measurement interval (decimal years) for each cell 

2.2.  Disturbance-Regrowth By %Forest Cover Product
   - Layer 1:  disturbance map showing % valid YR2001 Forest Cover* for each 500 meter cell disturbed during measurement interval***
   - Layer 2:  regrowth map showing % valid YR2001 Forest Cover* for each 500 meter cell regrown during measurement interval***

   - Layer 3:  measurement interval (decimal years) for each cell

2.3.  Ancillary Product

   - Layer 1:  %cell area not mapped (cloud, null, etc)

   - Layer 2: TM image date for that cell**

   - Layer 3:  ETM+ image date for that cell**

   - Layer 4:  QA bits (??)

* Calculated from VCF Treecover product

** Assumes that no 500-m cell includes a scene boundary.  If a 500-m cell includes a scene boundary, we should be able to use the DI map from the adjoining scene, which should include the entire 500-m cell.

*** Percent valid cell area calculated as:


100 * (area changed / non-null, non-cloud cell area)

     Percent valid forest cover calculated as:


100 * (area changed / non-null, non-cloud summed area of treecover from VCF)

3.  1/20 Degree Modeling Grid 

[Geographic “projection”, floating point 120x70 degrees = ~13MB per layer]
   - Layer 1:  disturbance map showing % valid cell area disturbed during interval(s)*
   - Layer 2:  regrowth map showing % valid cell area regrown during interval(s)*
   - Layer 3:  disturbance map showing %valid YR2001 forest in cell disturbed during interval(s)*

   - Layer 4:  regrowth map showing %valid YR2001 Forest in cell regrown during interval(s)*

- Layer 5:  %cell area not mapped (cloud, null, etc)

- Layer 6:   Interval (years) between TM and ETM+*


  * When one 1/20deg cell overlaps multiples scenes, calculate interval using weighted average of the two measurement intervals.  Eg. If 20% of the cell comes from a 1985-2000 pair, and 80% from a 1991-2000 pair, then the weighted interval is (0.2*15) + (0.8*9) = 10.2 years

2)  We need to define the qa bits for the 500m.

· Layer 7:  QA bits (??)

Here's my naive take:

   Bit 1:  no 500m value at all (regardless of reason - it was all cloud, no data there, etc)

   Bit 2:  cloud was present somewhere in the 500m cell

   Bit 3:  shadow was present somewhere in the 500m cell

   Bit 4:  snow was present somewhere in the 500m cell

   Bit 5:  null/fill was present somewhere in the 500m cell

   Bit 6:  Landsat-4 data used (ie. beware of a poor calibration)

   Bit 0 – regrowth somewhere

   Bit 1 – disturb somewhere

   Bit 2 – not changed somewhere

   Bit 3 – cloud somewhere

   Bit 4 – shadow somewhere

   Big 5 – snow somewhere
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